> restart
> Ecua = diff (y(x),x) —3-y(x) —-24-x* + 16-x

Ecua = - y(x) =3 y(x) =24 +16x 1)
> SolGral = dsolve(Ecua)
SolGral :=y(x) =8 x* +&* CI 2)
> restart
> Ecua:=y'+2 -x-y=2-x-exp( —xz)
Ecua :Z%y(x) +2xy(x) =2xe_x2 3)
>p:i=2x
pi=2x C))
> q = rhs(Ecua)
qg=2x e:_’62 5)
> EcuaHom = lhs(Ecua)
EcuaHom = % y(x) +2xy(x) (6)

> with(DEtools) :

> FI = intfactor( EcuaHom)
2

Fl:=¢ ™
> Fint := exp(int(p, x))
Flnt:=&" ®)
— __Ci int(Fl-q, x)
> SolGral = y(x) o + I
2
SolGral =y(x) = ()’:2] + x_xz )
e €
> restart

1
x-cos(y(x)) +sin(2-y(x))

Ecuacion = d y(x) = L 10)

> Ecuacion = diff (y(x), x) =

dx xcos(y(x)) +sin(2 y(x))

> with(DEtools) :
> odeadvisor( Ecuacion)

[[_Ist order, with symmetry [F(x)*G(y),0]]] (§8))
>
> EcuaDos = diff (x(y),y) =x(y) -cos(y) +sin(2-y)

EcuaDos = diy x(y) =x(y) cos(y) +sin(2y) (12)
> EcuaTres := lhs(EcuaDos) — x(y)-cos(y) =rhs(EcuaDos) — x(y)-cos(y)

EcuaTres = diy x(y) —x(y) cos(y) =sin(2 y) 13)

> p i=-cos(y)

ra an



| p = -cos(y)
> g :=sin(2y)
i q:=sin(2y)
> FI = exp(int(p,y))

FI := ¢ 50

= - . Cl int(F]-q,y)))
> SolGral == x(y) expand(szmpllﬁ/( 7 + o

SolGral :=x(y) =-2sin(y) —2 + eSin() CI

;> restart
> Ecua = x-log(x) -y'—y=x3- (3-log(x) —1)
Ecua :=x1n(x) (%y(x)) —y(x) —y (31In(x) —1)

> EcuaDos = expand( lhs(Ecua) _ rhs(Ecua) )
x-log(x) x-log(x)
2
= — _oyx) a2 X
] EcuaDos : & y(x) oy 3y NS
> = _—1
P xlog(n)

1
. P ()
> q = rhs(EcuaDos)

2

L2 X
= g3 In(x)
> FI = exp(int(p,x))

1

FI =

= In(x)
- Cl int(Fl-q, x)

> SolGral : 77 + i
L SolGral = _CI In(x) +x°
>
>
>
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